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A 19,368,146 19,368,146,000

S AL HI 4,060,097 4,060,097,000
A A 3,900,317 3,900,317,000
3,900,317 3,900,317,000

2,861,909 g A 2,861,909,000

O XAl et =2Hl 2,801,909,000
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- 887 100,000,000 x 1 100,000,000
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- Jl=a 20,000,000 x 3 60,000,000

HPAY o1 29g 1,038,408 g A 1,038,408,000
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s AAEH 433,314,000 x 3.1% = 13,390,000
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c NEEE 337,554,000 x 1.3% = 4,389,000
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HRAANH2H 159,780 159,780,000
a3l 159,780 159,780,000

_12_




s Al el ALl (S otai) T

OliAt3 R a 2| 9,320 g A 9,320,000
O 2N LRI 4,320,000
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« WHOHE 2] 1,000,000 x 1 £ A X 3 3 = 3,000,000
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s FA2EYRHI(E 100,000 12 3,240,000

O sl 12,020,000

s M= 3l 200,000 2 3,600,000

« U2 32| 40,000 2 720,000

c A28l 150,000 10 4,500,000

- G233 22 &H 40,000 10 1,200,000

» MOILEHI 2,000,000 2,000,000

O &A=& 8,400,000

cBESY 350,000 24 8,400,000

O & AtHI 2,000,000

« A3 2,000,000 2,000,000

71,780 & 71,780,000
O 2tM L 2,700,000

c FAN2ZYRH 250,000 12 2,700,000

O 3l2lb| 67,080,000

s 3o 150,000 g 12 37,800,000

22| 3| 40,000 g 12 10,080,000

c HESE(MY) 100,000 = 12 19,200,000

O & AtH| 2,000,000

« 2AS 3 2,000,000 2,000,000

5,163,257 5,1563,257,000
46,600 46,600,000
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« SCtE8 AHIDILE 900,000 x 10 3| = 9,000,000
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c HARE NN S 0l 500,000 x 2 = = 1,000,000
[OREP=] 3,000,000
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&4 = W 4
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c RUASRES

s A2AEH

s UEEH

c ATHEE

- IpHIRLGI(MSSSEN22M

HABE(MSISEX22HH)

s NESBE(MSISEXLIHH)

cAHEE(MSISEX2lHH)
O SAE XY

s SAEXRH|

 SABXRH(NSS3EH2LIAE)
o =g

- ASE
O =Wl

« AlLHOA I

« S20HAHI(MS3SE 22l dH)

0 4B3
S EEREE
- 9IS HUB(HSIIENBIY

%

o

761,700,000 x  4.5%

761,700,000 x  3.1%

761,700,000 x  1.3%

761,700,000 x  1.5%

281,160,000 x  4.5%

281,160,000 x  3.1%

281,160,000 x  1.3%

281,160,000 x  1.5%

130,000 x 30 =S x 11 !
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8y 9l NA Ha 54,500 g A 54,500,000
O ME31H| 11,700,000
<MW E UHY BDE 1,300,000 x 3 pal x 3 3 = 11,700,000
O &A= 4,800,000
s AW E A& 200,000 x 8 g x 3 3| = 4,800,000
O REg3 17,000,000
i NE RES 17,000,000 x 1 3| = 17,000,000
(O = 14,000,000
c AP A 2,000,000 x 2 3l = 4,000,000
c R A3 10,000,000 x 1 bal = 10,000,000
0 22FH| 7,000,000
- 2R JEE(20H) 500,000 x 11 o = 5,500,000
- 2HAA JIEE(10H) 250,000 x 6 =} = 1,500,000
QTR ABHY 28 157,150 g 3 157,150,000
[elmE=ztssl.ll 29,150,000
s U NE 3,000,000 x 4 =9l = 12,000,000
s MMRRNE 200,000 x 5 g = 1,000,000
s AMERNE 250,000 x 1 g = 250,000
* Mentor XI&HI 300,000 x 8 = = 2,400,000
cWEH Y ISEE WSH| 1,350,000 x 10 = = 13,500,000
O A==l 128,000,000
s A 15,000,000 x 3 = = 45,000,000
s AIEH 5,000,000 x 2 g = 10,000,000
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2EE Y A5H(20H) 5,000,000 11 = = 55,000,000

2EEY AH(109) 3,000,000 6 = . 18,000,000

HRE Y 35,750 g A 35,750,000
A" 33,000,000

o HH Bot=E 150,000 110 | x 2 = 33,000,000

ol 2,750,000

s TR IM EOLHZE M 5,000 275 £ x 2 = 2,750,000

336,650 336,650,000

336,650 g A 336,650,000

Scl =4l 336,650,000

HEN SMEXH(ERE) 1,350,000 104 =S = 140,400,000

Held SMETH(ASZ 1,000,000 155 =S x 0.75 = 116,250,000

S50 2 XA 500,000 " 2 = 5,500,000

4 =5} 50,000 274 =S = 13,700,000

AoEE ot 200,000 274 & = 54,800,000

stssotel K& 1,000,000 6 =l = 6,000,000

819,823 819,823,000

R 25,140 25,140,000
Y L HNEHA 4,800 g A 4,800,000
2 =8 SZ = 1,000,000

BRI 2 S =g 500,000 2 3 = 1,000,000

za3 1,600,000

EHRIADEEH 243 1,000,000 1 Al = 1,000,000




s ALY EH9) At CIRCAS & s Yo
(E9l: 28
cHEBIX 2 AILNS 50,000 x 12 =l = 600,000
[OJE A= 2,200,000
o BTN M IHAOLOICIOH (& D1) 300,000 x 4 3| = 1,200,000
« UHETH OHEOFOICIOf AL 500,000 x 2 3| = 1,000,000
AR@ F#AN FX 20,340 & A 20,340,000
O Al 19,840,000
o« BSR4 HA} 4,320,000 x 1 A = 4,320,000
c MRAAS 2HE 3 600,000 x 7 3| = 4,200,000
c MNATH o SAZ 2,320,000 x 1 3| = 2,320,000
o M E A 9,000,000 x 1 4l = 9,000,000
[OR=EN=] 500,000
« NEEOS 2Y 250,000 x 2 3l = 500,000
HAIR2Y 794,683 794,683,000
AR EE 8lUis % SX2e 144,086 g A 144,086,000
O REXHIFLLI 121,760,000
* Notebook 1,500,000 x 4 CH = 6,000,000
* PC 1,300,000 x 57 ol = 74,100,000
* Monitor 380,000 x 37 il = 14,060,000
* Printer 600,000 x 17 CH = 10,200,000
» Color Printer 3,500,000 x 1 ol = 3,500,000
s DAE S 300,000 x 2 CH = 600,000
c AN 800,000 x 1 CH = 800,000
« CIXIEJt0l et 1,000,000 x 1 CH = 1,000,000
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* PC 2 Notebook

* Printer

O AMlE =Xl

* SA| =2lbl

« JIEFEH] ==2ltl

1,500,000

5,000,000

5,000,000

2,000

1,500

15,000

7,500

5,410,000

1,500,000

5,000,000

5,000,000

12,828,000

9,768,000

3,060,000

4,088,000

2,160,000

1,928,000

5,410,000

5,410,000

g S 2el

129,870

129,870,000
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3,750,000

630,000

,350,000

225,000

135,000

270,000

CH

CH

90,360,000

45,000,000

45,360,000

16,200,000

16,200,000

20,520,000

18,900,000

1,620,000

1,350,000

1,350,000

720,000




s= oA er9iAel (S otai) o oE Y o

» XS XA 360,000 x 1 CH X 2 3 = 720,000

(O =: K= 720,000

cUREINHEE 720,000 x 1 CH x 1 3 = 720,000

HAMNE S SAM 100,303 g A 100,303,000
O A& S AtHI 100,303,000

c CIHEERF 40,000 x 634 m 25,360,000

e WEDI|WH 15,000,000 x 1 & 15,000,000

* LEDS WX SA 52,943,000 x 1 4l 52,943,000

« S2AERH B A 7,000,000 x 1 Al 7,000,000

AL |X &g 9 29 344,646 g A 344,646,000
[ORe == 235,440,000

« HA, &l 1,268,000 x 13 H x 12 El = 197,808,000

LAE=! 1,568,000 x 2 H x 12 El = 37,632,000

O ElAgHEY=2 23,100,000

cEIXSHEES 23,100,000 x 1 Al = 23,100,000

[OR=RSE=g= = 24,546,000

c ZHASRES 235,440,000 x  4.5% = 10,595,000

c HALH 235,440,000 x  3.1% = 7,275,000

c NELSH 235,440,000 x 1.3% = 3,061,000

cMTHEE 235,440,000 x 1.5% = 3,615,000

O SAEXHI 18,000,000

s SABXH| 100,000 x 15 = x 12 E = 18,000,000

[O= 25,560,000
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O =LHoddl

* AILHOAHI

150,000

60,000

540,000

100,000

02

02

1,800,000

10,800,000

12,960,000

18,000,000

18,000,000

75,778

75,778,000
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765,000

567,000

5,000,000

5,400,000

108,000

270,000

364,500

180,000

1,800,000

3,150

5,753,000

400,000

900,000

9,000

X

5»

H

15,332,000

1,530,000

1,134,000

5,000,000

5,400,000

648,000

1,620,000

38,388,000

4,374,000

2,160,000

1,800,000

22,601,000

5,753,000

800,000

900,000

19,628,000

324,000




Off & of

22 AL CHR| AL CERED
cBAES 800,000 9,600,000
s HIIES 180,000 2,160,000
» JHlA HEEIAH] 18,000 1,080,000
 AZH P 225,000 450,000
« SEJIEH 204 3,200,000 3,200,000
- II=HI(EA R 2,814,000 2,814,000
[ONI=EotaX=a 1,080,000
 AYAH FAIE 1,080,000 1,080,000
[O==4=:1=4 1,350,000
cSHMEEE(AEE, A 1,350,000 = 1,350,000
SANEE 1,020,507 1,020,507,000
FEEH 42,500 42,500,000
SANZEESYH ¥ 24 42,500 g 42,500,000
O ZE2E4H| 27,500,000
cEANEE A A 27,500,000 27,500,000
O Xzl 15,000,000
«JIE=XNZE P 15,000,000 15,000,000
FEMdH A 450,663 450,663,000
23 I8 U ALY IF 53,043 & 53,043,000
O =g 48,043,000
s R4 @ AFAE 48,043,000 48,043,000
OIPNI= =y 5,000,000
s 23 2SXE 5,000,000 5,000,000
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HEAAE, AH L UEHA 2

2

255,675

255,675,000

-
>
0x
H
=
=
[92]
i)
4
i

m
>
™
e
m
e
Hu

* D.L(ERIZ A, HIEZ )

o

c IR ZE(SSO, SS24, EnView S)

» Groupware(Z i, 0l¥)

« Was, X-internet, Reporting

* DRM

« CH2F 02 (EON)

« ABOIESION

« Oracle DB

- NBH(8UH: HHRIELE, GIS, 22l M, SAS
s S0, MY A

* A&E2|Xl, NAS, SAN, DNS, 22 DBAIH1

» Server&td| 234l

_27_

1,000,000

3,300,000

1,800,000

1,200,000

1,000,000

1,400,000

10,000,000

9,155,000

300,000

230,000

450,000

600,000

80,000

700,000

200,000

,000,000

250,000

250,000

250,000

40,000

20

192,675,000

12,000,000

39,600,000

21,600,000

14,400,000

12,000,000

16,800,000

10,000,000

9,155,000

3,600,000

2,760,000

10,800,000

7,200,000

960,000

8,400,000

2,400,000

12,000,000

3,000,000

3,000,000

3,000,000

10,800,000

9,600,000




s= oA er9iAel (S otai) o oE Y o

cJIEt HAARE 100,000 x 12 E = 1,200,000
[OIPNI=Etay=3 3,600,000
cHMTIE 2 40,000 x 15 o X 6 = = 3,600,000
O sS4l 48,600,000
CRell= e E=3=3 3,700,000 x 12 E = 44,400,000
«goteolEgzs 200,000 x 12 =] = 2,400,000
* i—PIN MHIAZ 100,000 x 12 =] = 1,200,000
« AHOIE MHIAZE 50,000 x 12 =] = 600,000
SREH 1Y 2 29 141,945 g A 141,945,000
O |SE&HIFLHI 15,700,000
o 2CtEElE 4,700,000 x 1 Al = 4,700,000
« A3HUE(A3) 2,000,000 x 1 Al = 2,000,000
- FAIAAHOIA 3,000,000 x 1 Al = 3,000,000
- AH 6,000,000 x 1 Al = 6,000,000
O SEFHIFLHI 43,140,000
- Office ZdI01& 300,000 x 50 I = 15,000,000
+ V38pro SE A AI(PC, Sever, APC) 10,400,000 x 1 4 = 10,400,000
e 2B S/W Ed0lE 5,000,000 x 1 =S = 5,000,000
< Ml =" S/W Y 5,000,000 x 2 3 = 10,000,000
+ ZIStream MHIA B XI& 200,000 x 5 H = 1,000,000
c UEX ASA FY 1,740,000 x 1 A = 1,740,000
O &A&KXIHI 33,930,000
* ARC/INFO RXIE= 1,400,000 x 12 E = 16,800,000
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» Auto CAD |RIE= 750,000 x H 6,000,000
* EMME2 R X2 1,050,000 x H 7,350,000
» Dynamic |SAlI=2= 1,890,000 x N 3,780,000
O Xl 21,120,000
* SAS S/W & Xtdl 21,120,000 x =l 21,120,000
O AR ESSHI 28,055,000
 MAZEFEFHI 40,000 x CH 3,600,000
- E2HEX 35,000 x roll 735,000
« E2HYA 230,000 x N 920,000
s EZHGIE 150,000 x N 1,800,000
c ZOtZEHARE 1,050,000 x CH 21,000,000
sz &l 527,344 527,344,000
A ¥ EUES 312,850 g 312,850,000
O FJItdE 167,350,000
s NEZ AT 24| 4,000 x £ 16,000,000
cNEZASEF B0 300,000 x o 18,000,000
s NETAIHT HAMZ 50,000 x X ! 15,000,000
s NETAIST BYS 100,000 x = 700,000
cNEZAIET 2SR 1,000  x s 2,800,000
s NETAIAT BE S 50,000 x o 5,000,000
s NEZAAFEY R 2SI 100,000 x 3 400,000
s AIAIZAISE MZHI 550,000 x 3 13,200,000
cHAZAISE 202 1,800,000 x 3 43,200,000
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ChRE)) s U
cHHEZAISE 252 600 600 8,640,000
s ANESAPE ML LE ML 700,000 26 18,200,000
s NEHTR ML ZE LERS 550 700 10,010,000
[SE=R=d 300,000 14 4,200,000
+ NS Webzine M ZtH| 500,000 24 12,000,000
O A8 2| 145,500,000
c AFREA HZHI 1,500,000 90 = 135,000,000
cHAIEIMN EERS 105,000 100 E 10,500,000
=l 214,494 g A 214,494,000
SAXER LI 155,102,000
o CHEllE 40,000 680 27,200,000
- DL FOIHHE 100,000 60 E 6,000,000
Lz IS 220,000 20 E 4,400,000
- 70l o1t E 1,200,000 60 =5 72,000,000
cHNME OIS 45,502,000 1 =5 45,502,000
=323 2,592,000
s U MERSE 18,000 12 ES 2,592,000
O eI4fH] 2,400,000
FIIH4 = M2 8,000 300 2,400,000
O 22FH| 1,800,000
S M2tel 83l 150,000 12 1,800,000
OXgx==8 52,600,000
c AP HIE OJI0IE ST 40,000 1 800,000




Off & of

=0t 22 AL CHR| AL CERED E U 4
BN BEE 0IER 750,000 x 1 Al = 750,000
« 2SS AMHIA018 = (NDSL, KERIS) 1,000,000 x 1 Al = 1,000,000
» SOURCE-OECD AMEZ 12,000 x 1,300 $ = 15,600,000
+ ACADEMIC, BUSINESS SOURCE At&& 26,500 x 1,300 $ = 34,450,000
F4FH| 862,942 862,942,000
F4FH| 862,942 862,942,000
& 283l 378,744 g A 378,744,000
O 2lefdl 29,160,000
+ OIALS| OIALE RHR=E 1,000,000 x 1 =S 12 g = 12,000,000
» OlALS| OIAF &lol ==& 250,000 x 8 =S 4 3 = 8,000,000
+ OIAtE] 32/ FHl 60,000 x 14 g 4 3 = 3,360,000
« OlALS 2tE 3] 2,500,000 x 2 3] = 5,000,000
- A23 3FH 100,000 x 2 ral 4 3 = 800,000
O 2LHobI 55,920,000
« AILHO3HI (20,0002 x 1042 x55]| x0.4x12&) = 49,920,000
* Al2I0 I 200,000 x 6 & 5 3 = 6,000,000
O =22/04d] 12,090,000
YR EB= $1,500 x 1,300 2 3 = 3,900,000
- Y3 23| $308 x 1,300 X 10 2 3 = 8,008,000
Y3 EHIS $140 x 1,300 1 3 = 182,000
O 2ANHI(XISRA) 9,724,000
Y38 $1,400 x 1,300 2 3 = 3,640,000
- 234 $222 x 1,300 X 10 2 3 = 5,772,000
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s Al el ALl (S otai) T
0 332=s 7,320,000
FRERS 250,000 x 12 E=| = 3,000,000
A2 Y AME I=SE 18,000 x 20 ES x 12 =l = 4,320,000
O AR EEHI 51,900,000
JIZARESHI 550,000 x 12 ! = 6,600,000
s SAEX 20,000 x 150 grA X 5 E=! = 15,000,000
s SMAES 100,000 x 5 CH X 5 E=! = 2,500,000
« ZIBHES 100,000 x 45 CH X 4 E=! = 18,000,000
cHAUES 100,000 x 12 E=! = 1,200,000
+ ALEIE & 015} 50,000 x 12 E! = 600,000
=& N 20,000 x 400 2 = 8,000,000
O A2FH| 7,600,000
< JISH MIE 300,000 x 4 =l = 1,200,000
- HAE S 200,000 x 2 =l = 400,000
JIE3 M 20,000 x 300 H X 1 3 = 6,000,000
oXg==+g 21,700,000
c BIHBA =2 11,000,000 x 1 =l = 11,000,000
cSle2 200,000 x 6 =l = 1,200,000
* NIEHI 100,000 x 2 =l = 200,000
+ =X 15,000 x 10 3] x 12 3 = 1,800,000
- Z2¥ 35,000 x 2 = x 10 = = 700,000
s HBIFF E O 100,000 x 10 3 = 1,000,000
s H2tEHOIZE S 150,000 x 12 =] = 1,800,000
s AXILIGE 3l 3ldl 1,000,000 x 1 3 = 1,000,000
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» A XAl

O =AY

150,000

30,000

200,000

500,000

200,000

1,500,000

500,000

250,000

20

20

O

o

3,000,000

600,000

600,000

28,300,000

4,800,000

500,000

20,000,000

1,500,000

1,500,000

500,000

500,000

0H
R

[0

260,330

260,330,000

+CATVRS

O MAl=

2,100,000

8l 12,000,000

7,500,000

3,200,000

60,000

182,000

) 1,500,000

90%

90%

90%

90%

90%

221,940,000

11,340,000

129,600,000

81,000,000

35,208,000

34,560,000

648,000

3,182,000

182,000

3,000,000

105,948

105,948,000
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s Al el ALl (S otai) T
cOIRES ARFIHI(EE) 2,310,000 x 1 X 90% X 12 E=| = 24,948,000
COITEE ARETH|(RAR) 700,000 x 1 x  90% x 12 @ = 7,560,000
O o224l 73,440,000
- D2 2ZU(EL2], 3E) 500,000 x 3 x 90% x 12 = = 16,200,000
DI Z22HH(REE, 22, &, dH) 300,000 x 10 x 90% x 12 ! = 32,400,000
s el 22HHI(E) 200,000 x 10 X 90% x 12 E=! = 21,600,000
s 22gH(BugER ) 300,000 x 1 X 90% x 12 E=! = 3,240,000
felial 9,274,005 9,274,005,000
ol A 9,274,005 9,274,005,000
oA 9,274,005 9,274,005,000
g3 8,209,733 g A 8,209,733,000
[ORl=—1=/ 7,414,126,000
[OR=EN= {0 700,607,000
cEXNEHEE3 700,607,000 x 1 Al = 700,607,000
[OR=1V /IS EEEa=, 95,000,000
c BOE XS 95,000,000 x 1 & = 95,000,000
291,352 g A 291,352,000
O SAEXH| 162,240,000
« SAE XA 130,000 x 104 = x 12 3 = 162,240,000
(OESs 129,112,000
¢ HEE (104x40,000%12)+(104%20,000x1x12)+(104x30,000x0.3x12) = 86,112,000
s SURsE 100,000 x 1 = x 12 2 = 1,200,000
s HESHHIE XS 550,000 x 19 = X 4 3 = 41,800,000
772,920 g A 772,920,000
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=0t 22 AL CHR| AL CERED &4 = W 4

(OR=:FSE = =) 772,920,000

c RUASRES 7,414,126,000 4.5% 333,636,000

s AAEH 7,414,126,000 3.1% 229,093,000

s UEEH 7,414,126,000 1.3% 96,384,000

cAMHEE 7,414,126,000 1.5% 113,807,000

dus dus dus di= 830,787 & 830,787,000
O dut= 830,787,000

D2 830,787,000 x 1 A 830,787,000

ol HI HI ol HI HI ol HI HI ol HI HI 50,000 g 50,000,000
O oiibl bl 50,000,000

« 2EHOIHIHI 50,000,000
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= 20138 &
= E@5am) e s 4=
6,500,000 6,500,000,000
3,804,267 3,804,267,000
AolAH 1,039,267 g A (Gl &bQH ol 16%LHS) 1,039,267,000

OSaE=—=
O a2 XH| 130,000 X E=| X ol
O EXsSHEE= HE= x 1/12
OHERES= == x 10.0%

1,625,000 g A (Oll Ak ol 25% LK 2/) 1,625,000,000
O ZAHHI
O 3o/l
OO Hi
O =2dl*==2
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(RIS RHIE HI<

ron

b Ofl AFQH O] 7%0] &)

0332

O JI1&t &2l
AEH 800,000 g A (Ol &4 o) 15%LH21) 800,000,000
O a2 6,500,000,000 x 20% W< = 800,000,000
340,000 g A (RIS HIE RS H&HO 13.5%0!LH) 340,000,000
O g4 5,700,000,000 x  3.5% OILHi = 90,000,000
O a2 X&bl 250,000,000

LEALH A E -
H = = 2,275,000 g 2,275,000,000
O Zt&E | 5,700,000,000 x 35/100 Ol&t = 2,275,000,000

(RIEHATHIE H2UE Gl&HHO] 35%0] 4t)

420,733 g A 420,733,000
O 2+&Hl 5,700,000,000 x 6/100 Ol&t = 420,733,000
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